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(BF) EBHRL
75 WM B B EFEH B EOLLBY
w A B (M) T %= i & (H) HE R SEE ()

YRR EHARE 22,447,800 20,785,000 (A) 1,662,800
P I G o ] 22,613,040 20,938,000 (B) 1,675,040
LY ASEE 21,546,000 19,950,000 (C) 1,596,000
EHEASHE 21,703,680 (F) 20,096,000 (D) 1,607,680 (E)

HVRAE 157,680 146,000 11,680

(BEH=D)  (B) X (C)+(A)=(D) <K D)IZTFHIED - FHLLFUET>

(D) X0. 08= (E)
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2 ERBTRERESEMIE L LEE - HETE
=]

IR

BHEELE

e i = - — o = — 1 AR
® R | ge wm mm &8 B | Hfg B g | EUEREE WS
[ERE I ¢
[| AsgErH = 10,410,478 =X 10,466,683 56,205 HE%E
| X L X 1,434,539 =X 1,434,539 0
ID| b LgF = 2,684,528 =X 2,743,202 58,674 H4%H
EREENE Xy 14,529,545 14,644,424 114,879 |H4%H
/\@%
| Hmfart: = 1,320,094 =X 1,324,084 3,990 &%
| BGEEE v 2,925,287 =X 2,944,024 18,737 %A
M| —fE e = 2,010,793 =X 2,025,476 14,683 |H4%H
SISk 6,256,174 6,293,584 37,410 HE%E
&t 20,785,719 20,938,008 152,289 | HE%H
X AR (LI ES) TR0 T 20,785,000 20,938,000 153,000 H4%H
THE RS A 1,662,800 1,675,040 12,240 4%
AR () 22,447,800 22,613,040 165,240 HI%H




£ M ERETRERTREMOE b4 LEE - RETH No. 2
ERETE A RETERR .
e i = - = T = = R A
i B O® | ws wm wm &8 g g EE g | EOVEAE R
I BT
I -1|BETHERCER) = 2,918,519 =Y 2,918,519 0
[ 2[R THCOK=E) =K 2,480,978 =K 2,537,183 56,205 |HE%E
1 -3 THGER) = 2,431,316 =Y 2,431,316 0
[ 4 |[BEETHEER) 2V 2,579,665 = 2,579,665 0
&t 10,410,478 10,466,683 56,205 H4%H
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2 W = %jﬁa’gﬁﬁﬁ 5 5 AL ER ZoEEE B =

&
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I-1|2ETE (BR)
A-1 [T =HE 1 = 2,885,317 1 = 2,885,317 0
B-1 |fg ik 5 1 = 33,202 1 = 33,202 0

|

&5t 2,918,519 2,918,519 0
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2 ERBTRERESEMIE L LEE - HETE
=]

IR

RAEER

— e =~ - - e = - R A
H B F | ys mm wmm S8 g HE S o | EOVERE RAE
A1 |BETE
1 |EEREETE 1 = 16,100 1 =& 16,100 0
2 | teHhETEHE 1 = 81,193 1 = 81,193 0
3 (&R L I 35,938 1 = 35,938 0
4 |ars)—hILEHE 1 = 140,221 1 = 140,221 0
5 |BiRT 1 = 48,687 1 = 48,687 0
6 |HEETH 1 K 590,000 1 =X 590,000 0
7 |ANETER 1 = 298,458 1 = 298,458 0
8 |Z=vyh e OZFDOM T 1 =X 1,674,720 1 =X 1,674,720 0
&3 2,885,317 2,885,317 0




£ M ERETRERTREMOE b4 LEE - RETH No. 5
B

RETEEAD RETEER o
E ﬁﬁ = #{% =R v B {ff %A ﬁ% A B il £%5 %glialmﬁﬁ i %
B-1 |f#{ATHE
1 |[fETE 1 = 24,544 1 = 24,544 0
2 |BAEMWE 1 K 8,658 1 = 8,658 0
&t 33,202 33,202 0




£ M ERETRERTREMOE b4 LEE - RETH No. 16
B

RETEEAD RETEER o
E ﬁﬁ = #{% =R v B {ff %A ﬁ% A B il £%5 %glialmﬁﬁ i %
I-2[BEITE (KE)
A-2 [BRETH 1 =X 2,449,162 1 =K 2,501,617 52,455 HE%E
B-2 MR T 1 K 31,816 1 = 35,566 3,750 H4%E
&t 2,480,978 2,537,183 56,205 |H4%E




£ M ERETRERTREMOE b4 LEE - RETH No. 17
RETEEAD RETERR e
e i = - = o - = R A
" B 2B | ws wm wm S8 g HE S g | EOVEAE R
A2 |BETE
1 |EEREETE 1 = 16,796 1 =& 16,796 0
2 |t-HiETE 1 K 80,784 1 =X 80,784 0
3 (&R L I 32,586 1 = 32,586 0
4 |2 r)—hILE IR 133,381 1 =X 133,381 0
5 |BiRT 1 = 46,281 1 =& 46,281 0
6 |BEITEF 1 K 523,000 1 =K 523,000 0
7 |NANET 1 = 291,054 1 =& 343,509 52,455 |HE%E
8 2=y N OEDOMITEHE 1 K 1,325,280 1 =K 1,325,280 0
&5t 2,449,162 2,501,617 52,455 |HA%E




£ M ERETRERTREMOE b4 LEE - RETH No. 18
B

RETZEEAD RETEER o
E ﬁﬁ = #{% =R v B {ff %A ﬁ% A B il £%5 %glialmﬁﬁ i %
B-2 |f#{ATH
1 |fETE 1 =X 26,884 1 =R 30,634 3,750 H4%H
2 |BAEMNE 1 K 4,932 1 = 4,932 0

+ 31,816 35,566 3,750 |H4%E

o
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£ M ERETRERTREMOE b4 LEE - RETH No. 29
B

RETZEEAD RETEER o
" R | ge wm mm o8 | mE mE  #m o | EOVERE RAE
I-3|BETE (FER)
A-3 | T I 2,372,684 1 = 2,372,684 0
B-3 MR T 1 K 58,632 1 = 58,632 0
&5t 2,431,316 2,431,316 0
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2 ERBTRERESEMIE L LEE - HETE
=]

RETEEAD RETEER .
— e =~ - - e = - R A
" R | ge wm mm s g Mg B a5 | SOERE RE

A-3 | BETE
1 |EEREETE 1 = 12,272 1 = 12,272 0
2 |-t THE 1 =X 88,413 1 =X 88,413 0
3|8 1 =® 43,709 1 = 43,709 0
4 |=rr)—F T 1 =X 178,168 1 =X 178,168 0
5 | 1 =® 56,318 1 = 56,318 0
6 |EHETH 1 =K 519,000 1 =X 519,000 0
7 |NAET R 1 = 271,124 1 =% 271,124 0
8 =y ONFDOM T 1 =X 1,203,680 1 =X 1,203,680 0

A5 2,372,684 2,372,684 0




£ M ERETRERTREMOE b4 LEE - RETH No. 31
B

RETZEEAD RETEER o
" R | ge wm mm o8 | mE mE  #m o | EOVERE RAE
B-3 |f#{ATH
1 |WETE 1 X 44,442 1 K 44,442 0
2 |BAEMWE 1 K 14,190 1 = 14,190 0
&t 58,632 58,632 0




£ M ERETRERTREMOE b4 LEE - RETH No. 42
B

RETZEEAD RETEER o
H R | ge wm mm o8 | mE mE  #m o | EOVERE RAE
I-4|2ETE (ER)
A4 ST H 1 K 2,559,538 1 & 2,559,538 0
B-4 MR T 1 K 20,127 1 = 20,127 0
&5t 2,579,665 2,579,665 0
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2 ERBTRERESEMIE L LEE - HETE
=]

RETEEAD RETEER e
— e =~ - - e = - R A
" R | ge wm mm s g Mg B a5 | SOERE RE

A4 | BETE
1 |EEREETE 1 = 16,622 1 = 16,622 0
2 |- TH 1 = 81,313 1 = 81,313 0
3 |k T 1 &K 34,213 1 =X 34,213 0
4 |=rsY—hIE 1 = 137,128 1 = 137,128 0
5 | BT E 1 = 50,911 1 = 50,911 0
6 |HEETH 1 K 633,500 1 =X 633,500 0
7 |NAELE 1 = 344,331 1 =& 344,331 0
8 |Z=vyh e OZFDOM T 1 =X 1,261,520 1 =X 1,261,520 0

&EF 2,559,538 2,559,538 0




2 ERBTRERESEMIE L LEE - HETE No. 44
=]

RETZEEAD REtEE® st
" R | ge wm mm o8 | mE mE  #m o | EOVERE RAE
B-4 |f#{ATH
1 |fETE I 13,698 1 & 13,698 0
2 |BAEMWE 1 K 6,429 1 = 6,429 0
&t 20,127 20,127 0
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- B

TN s SREI a7
moE HE | EfE nxné;?” 8 wE | s nxn%%& @ | O HEE | RS
I | BEAER (i Lo
A BRI 1.0 =X 658,280 1.0 = 658,280 0
B |PK=E/NERK 1.0 =X 562,928 1.0 =X 612,992 50,064 |HE%E
C BRI 1.0 =X 802,170 1.0 = 802,170 0
D |ER/E 1.0 = 661,150 1.0 = 669,760 8,610 |H%H

At 2,684,528 2,743,202 58,674 |YE%H
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TN s SREI a7
moE HE | EfE nxné;?” 8 wE | s nxn%%& @ | O HEE | RS
A |ER/NFER
1 [feKERfE T8 1.0 =X 249,260 1.0 = 249,260 0
2 |BEAKER I L 1.0 =X 175,700 1.0 =X 175,700 0
3 | HEE LF 1.0 =X 229,030 1.0 = 229,030 0
4 |WELE WAy TEWRE G e 1.0 = 4,290 1.0 = 4,290 0

aEt 658,280 658,280 0




2% BERBTHERERESEMIZTMUEE - METE MEREISE) No. 4
TEES LA —
= " = BB | S| B &5 BB | S| EE Y I el Bl
B K=/
1 |FekEs L 1.0 = 122,410 1.0 = 172,370 49,960 i%@
2 |[PEKERE L 1.0 = 215,460 1.0 = 215,460 0
3 |fErdas BakiE LI 1.0 = 224,780 1.0 = 224,780 0
4 |fiELE WLy By TERE G 1.0 = 278 1.0 = 382 104 |B8%H
Gt 562,928 612,992 50,064 |HE%H




2% BERBTRERESEMIEMUEE -ETE HMRETSE) No. 5
= =

SRt ERETE R
moE HE | EfE nxné;?” 28 | mE |2 nxn%%& @ | O HEE | RS
C |ERR/ IR
IR P G A 1.0 =X 244,990 1.0 = 244,990 0
2 |BEAKER I L 1.0 =X 304,550 1.0 =X 304,550 0
3 | HEE LF 1.0 =X 240,030 1.0 = 240,030 0
4 |WELE WAy TEWRE G e 1.0 = 12,600 1.0 = 12,600 0

At 802,170 802,170 0




2% BERBTRERESEMIEMUEE -ETE HMRETSE) No. 6
= =

SRt ERETE R
moE HE | EfE nxné;?” 28 | mE |2 nxn%%& @ | O HEE | RS
D |ER/IFR
IR P G A 1.0 =X 162,150 1.0 = 162,150 0
2 |BEAKER I L 1.0 =X 270,270 1.0 =X 278,880 8,610 |H%E
3 | HEE LF 1.0 =X 224,730 1.0 = 224,730 0
4 |WELE WAy TEWRE G e 1.0 = 4,000 1.0 = 4,000 0

aEt 661,150 669,760 8,610 |HE%H




